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Objective Questions Multiple Choice Questions

1. The number of polynomials having zeroes as

-2and 5 is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aguD9Xus7rqH

Al

B.2

C.3

D. more than 3

Answer: D

o Watch Video Solution

2. If one of the zeroes of the cubic polynomial
az® + bz? + cx + d is zero, the product of

the other two zeroes is :


https://dl.doubtnut.com/l/_aguD9Xus7rqH
https://dl.doubtnut.com/l/_tDKndpqQexEB

Answer: B

o Watch Video Solution

3. If one of the zeroes of the cubic polynomial
23 +ax? +br+c is —1then find the

product of other two zeroes.


https://dl.doubtnut.com/l/_tDKndpqQexEB
https://dl.doubtnut.com/l/_23VtIYBuKNCr

A. b-a+1

B. b-a-1

C. a-b+1

D. a-b-1

Answer: A

° Watch Video Solution

4. IF o, B are the zeroes of the polynomial
52> — Tz + 2 then the sum of their reciprocal

is:


https://dl.doubtnut.com/l/_23VtIYBuKNCr
https://dl.doubtnut.com/l/_5ZHk6ERDJpE6
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Answer: A

o Watch Video Solution

5. The degree of the polynomial

(z+1)(z*—z—= +1)



https://dl.doubtnut.com/l/_5ZHk6ERDJpE6
https://dl.doubtnut.com/l/_6IPITX87mFre

A2

B.3

C.4

D.5

Answer: D

o Watch Video Solution

6. The zeroes of the quadratic polynomial

2 + 99z + 127 are:


https://dl.doubtnut.com/l/_6IPITX87mFre
https://dl.doubtnut.com/l/_lwP2qnaJDf8m

A. both positive

B. both negative

C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution

7. The zeroes of the quadratic polynomial

z? + kx + k where k # 0,


https://dl.doubtnut.com/l/_lwP2qnaJDf8m
https://dl.doubtnut.com/l/_IJL3DHFXEJOm

A. cannot both be positive

B. cannot both be negative

C. are always unequal

D. are always equal

Answer: A

o Watch Video Solution

8. If the zeroes of the duadratic polynomial

azr’ + bz + ¢, where ¢ # 0, are equal, then


https://dl.doubtnut.com/l/_IJL3DHFXEJOm
https://dl.doubtnut.com/l/_HmIBGjvf6XAB

A. c and a have opposite signs

B. c and b have opposite signs

C.c and a have the same sign

D. c and b have same sign

Answer: C

o Watch Video Solution

9. If one of the zeroes of a quadratic
polynomial of the form "z + ax + b is the

negative of the otherthen it


https://dl.doubtnut.com/l/_HmIBGjvf6XAB
https://dl.doubtnut.com/l/_36pHRN6XX1aw

A.has no linear term and the constant

term is negative

B. has no linear term and the constant

term is positive

C.can have a linear term but the constant

term is negative

D. can have a linear but the constant term

Is positive

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_36pHRN6XX1aw

10. Which of the following is not the graph of

a quadratic polynomial?



https://dl.doubtnut.com/l/_36pHRN6XX1aw
https://dl.doubtnut.com/l/_gXrKdPEbS89O

Answer: D

o Watch Video Solution

Objective Questions Fill In The Blanks

1. If one root of the equation
(k — 1)z* — 10z + 3 = 0 is the reciprocal of

the other, then the value of is



https://dl.doubtnut.com/l/_gXrKdPEbS89O
https://dl.doubtnut.com/l/_c68QeeAzfYVC

° Watch Video Solution

2. The sum and the product of the zeros of a
quadratic  polynomial are 3 and — 10

respectively. The quadratic polynomial is

° Watch Video Solution

3. If two of the zeros of the cubic polynomial
ax® + bx® + cx + d are 0 then the third zero

IS

| e |


https://dl.doubtnut.com/l/_c68QeeAzfYVC
https://dl.doubtnut.com/l/_I068HVmPIrJ7
https://dl.doubtnut.com/l/_9kzPM2DguOlB

& Wwatch Video Solution ]

4.Zeros of p(x) = 2> — 2z — 3are

° Watch Video Solution

5. If (x-2) is a factor of the polynomial
2 — 622 + ax — 8 then the value of a is

equal to.......

° Watch Video Solution



https://dl.doubtnut.com/l/_9kzPM2DguOlB
https://dl.doubtnut.com/l/_Im3e7sg3ejZh
https://dl.doubtnut.com/l/_7tYq3XZYphn0
https://dl.doubtnut.com/l/_PE6kS5zouAqc

6. The numbers of zeroes Of p(x) in the given

figure is.........

o View Text Solution

7. If the sum of the zeros of the quadratic

polynomial kz? + 2z + 3k is equal to the


https://dl.doubtnut.com/l/_PE6kS5zouAqc
https://dl.doubtnut.com/l/_lKPS8NTM93ps

product of its zeros then k = 7

o Watch Video Solution

8. If a and (8 are the zeros of the quadratic

polynomial f(z) = 2> — 2 — 4, find the value

f1-|—1 3
Oa ﬁa.

o Watch Video Solution

9. A monomial has............. terms

o View Text Solution



https://dl.doubtnut.com/l/_lKPS8NTM93ps
https://dl.doubtnut.com/l/_pw91dJSGZ68o
https://dl.doubtnut.com/l/_KMfwKpV2pS88

Objective Questions Very Short Answer Type

Questions

1. From a quadratic polynomial, the sum and
product of whose zeros are ( —3) and 2

respectivily.

° Watch Video Solution



https://dl.doubtnut.com/l/_KMfwKpV2pS88
https://dl.doubtnut.com/l/_aeJmAx2e8O39

2. Find the value of k for which the roots of the
equation 3z* — 10z + k = 0 are reciprocal of

each other

o Watch Video Solution

3. The degree of the polynomial

(z+1)(z* —z —2*+ 1) is:

o Watch Video Solution



https://dl.doubtnut.com/l/_a5xbfiwoDSK0
https://dl.doubtnut.com/l/_z3vTHUeiZdNo

4. If the product of two =zeros of the

polynomial f(z) = 22> + 62* —4x +9 is ,

then its third '()3(b) 3()9(d)
en its third zero is (a) 5 5 () 5
9
2

° Watch Video Solution

5.IF  and S are the zeroes of the polynomial
p(x) = 42> — 2z — 3 find the value of

1,1
a B

o View Text Solution



https://dl.doubtnut.com/l/_lDGbwTmgtIrl
https://dl.doubtnut.com/l/_ay706Gc2A7el

6. If one of the zeroes of polynomial
P(x) = (k—1)z* —kx +1 is 3 find the

value of k

o View Text Solution

Short Answers Sa | Type Questions

2
1. Find the quadratic equation having roots 3

and 5.

l o Watch Video Solution


https://dl.doubtnut.com/l/_ay706Gc2A7el
https://dl.doubtnut.com/l/_u5MKt41DTrIY
https://dl.doubtnut.com/l/_l6RueXdPYL7X

2. Find the roots of 4z + 7z — 36 =0 by

splitting the middle term.

o Watch Video Solution

3. If one of the zeros of the quadratic
polynomial f(x) = 42 — 8kx — 9 is equal in
magnitude but opposite in sign of the other,

find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_l6RueXdPYL7X
https://dl.doubtnut.com/l/_rMogDZbJkbFm
https://dl.doubtnut.com/l/_pI9yRI3xdgbK

4.Find the quotient and remainder on division

of £° + 2z? — 5z + 6 by (z + 3)

o Watch Video Solution

5. If the zeroes of the polynomial
3 — 222 + £ + 1 are a-b ,a and a+b then find

the values ofaand b

o Watch Video Solution



https://dl.doubtnut.com/l/_pI9yRI3xdgbK
https://dl.doubtnut.com/l/_n3sIsNLPFV6b
https://dl.doubtnut.com/l/_ykEUPlfTjJYa
https://dl.doubtnut.com/l/_9ynwuqR4gP1z

6. What should be added to the polynomial
2 — 5z +4 , so that 3 is the zero of the

resulting polynomial? (a) 1 (b) 2 (c) 4(d) 5

o Watch Video Solution

7. If the zeroes of a polynomial
2> — 8¢ + k = 0 is the HCF of (6,12) then find

the value of k

o Watch Video Solution



https://dl.doubtnut.com/l/_9ynwuqR4gP1z
https://dl.doubtnut.com/l/_vxWLMzWOlR97
https://dl.doubtnut.com/l/_faKLKq9nG3BV

8. Find the quadratic polynomial sum and
product of whose zeroes are -1 and -20
respectively. Also, find the zeroes of the

polynomial so obtained

° Watch Video Solution

9.Find a quadratic polynomial whose zeros are

reciprocals of the zero of the polynomial

f(z) =azx* =bx +c,a # O,c #0.

° Watch Video Solution



https://dl.doubtnut.com/l/_faKLKq9nG3BV
https://dl.doubtnut.com/l/_n8xQQL7k9e90
https://dl.doubtnut.com/l/_T9WNYienaBsW

10. If the zeroes of the polynomial z? + pxr + ¢
are double the value to the zeroes

22 — 5z — 3 find the value of p and q

° Watch Video Solution

11. Find the value of k such that the equation
z? — (k+ 6)z + 2(2k — 1) = 0 has sum of

the roots equal to half of their product :

° Watch Video Solution



https://dl.doubtnut.com/l/_T9WNYienaBsW
https://dl.doubtnut.com/l/_PLfsBhFYFYlJ
https://dl.doubtnut.com/l/_tX3sMtYz7IHt

12. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and
the coefficients of the polynomials

7 3

2
(v) 22 —I—Ex—i-z

o Watch Video Solution

13. Find the zeroes of the following
polynomials by factorisation method and

verify the relations between the zeroes and


https://dl.doubtnut.com/l/_tX3sMtYz7IHt
https://dl.doubtnut.com/l/_7NIRm3l28JWc

the coefficients of the polynomials

(vii) 25 — (1 + 2¢/2)s + /2

° Watch Video Solution

14. Find the zeroes of the following
polynomials by factorisation method and
verify the relations between the zeroes and

the coefficients of the polynomials

11 2

2__ —_— —
(x) Ty Y~ 3

° Watch Video Solution



https://dl.doubtnut.com/l/_7NIRm3l28JWc
https://dl.doubtnut.com/l/_6vtfZ8Pwb5if

Short Answers Sa li Type Questions

1. Find a quadratic polynomial whose zeros are
1 and —3. Verify the relation between the

coefficients and zeros of the polynomial.

° Watch Video Solution

2. If one root of the equation
322 —8x +2k+1=0 is seven times the

other, find the two roots and the value of k

I ° Watch Video Solution


https://dl.doubtnut.com/l/_55Ok1RR2tO3M
https://dl.doubtnut.com/l/_xXigMIjlBwfg

3. Without actually calculating the zeroes,
from a quadratic polynomial whose zeroes are

reciprocals of the zeroes of the polynomial

522 + 22 — 3

o Watch Video Solution

Long Answer Type Questions


https://dl.doubtnut.com/l/_xXigMIjlBwfg
https://dl.doubtnut.com/l/_7JXlJ3CvSatx

1. Obtain other zeroes of the polynomial
f(z) = 2z* + 32° — 52> — 9z — 3 if two of

its zeroes are — /3 and /3

o Watch Video Solution

2. Given that zeroes of cubic polynomial
3 —62° + 32+ 10 are of the form
a,a+b,a+2b for some real numbers a and b, find
the values of a and b as well as zeroes of the

given polynomial.

| & I


https://dl.doubtnut.com/l/_4gZaiMA88x6F
https://dl.doubtnut.com/l/_3mEVIGh26GNt

| ¥ Watch Video Solution |

3. Given that /2 is a zero of a polynomial
62> + /2% — 10z — 44/2, find the other two

Zeroes.

o Watch Video Solution

4. Given that x — /5 is a factor of the cubic
polynomial z* — 3,/5z* 4 13z — 3,/5, find

the other zeroes of the polynomial.

o Watch Video Solution



https://dl.doubtnut.com/l/_3mEVIGh26GNt
https://dl.doubtnut.com/l/_M4VBn2vvedKK
https://dl.doubtnut.com/l/_UMRluKQUnAGB

5. For which values of a and b, the zeroes of
q(x) = z° + 2z® + a are also the zeroes of
the polynomial
p(z) = 2° — 2* — 42> + 32 + 3z + b?

Which zeores of p(x) are not the zeroes of

p(z)?

o Watch Video Solution



https://dl.doubtnut.com/l/_UMRluKQUnAGB
https://dl.doubtnut.com/l/_UoBbu1tn8Ejx

